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Weeks Chapters Sections Topics
1.2 Exponents and Radicals
Precalculus, 6th Examples: /, 2, 3, 5, 8 and 10.
1 Fundamentals Edition, Stewart | Exercises: 15, 17, 21, 23, 35, 37, 49, 55 and 57.
1.5 Solving Equations
Precalculus, 6th Examples: 1, 4, 5, 6, 7 and 8.
Edition, Stewart Exercises: 15, 43, 51, 53, 55, 59, 65, 69, 79 and 80.
0.2 Inequalities and Absolute Values
Calculus, 9th Edition, | Examples: /, 2, 3, 4, 5, 8, 9 and 13.
5 T el Purcell Exercices: 1, 3, 11, 13, 17, 21, 25 and 39.
0.3 Distance Formula and Circle Equation
Calculus, 9th Edition, | Examples: /, 2, 3, 5, 6, and 7.
Purcell Exercises: 11, 13, 17, 23, 25, 29, 33, 35 and 39-(a,b,c,d).
0.5 Functions (Domain, Range, Graphing Functions, etc)
Calculus, 9th Edition, | Examples: /, 2, 4-(a) and 5.
3 Functions Purcell Exercises: 9, 13, 15, 17 and 21.
0.6 Operations of Functions
Calculus, 9th Edition, | Examples: /, 2, 3 and 4.
Purcell Exercises: 1, 11 and 15.
0.7 Trigonometric Functions and Identities
Functions Calculus, 9th Edition, | Examples: 5 and 6.
Purcell Exercises: 9, 11, 27 and 29.
4 .. 1.1 Introduction to Limits
Limits and .
Continuity Calculus, 9th Edition, Examples: 1, 2 and 5-(Example for one-sided limits).
Purcell Exercises: 1, 3, 7, 8, 11 and 43-(a,b).
1.3 Limits Theorems (Theorems A, B, C and D)
Limits and Calculus, 9th Edition, | Examples: /, 2, 3, 4, 5, 6, 7, 8 and 9.
5 Cﬁi;gﬁ Purcell Exercises: 1, 5, 9, 13, 15, 19 and 27.
Y 1.5 Limits at Infinity and Infinite Limits
Calculus, 9th Edition, | Examples: 7, 2, 3, 5, 6 and 7.
Purcell Exercises: 2, 3, 27, 29, 31 and 45.
Limits and 1.6 - Continuity of Functions
Continuity Calculus, 9th Edition, | Examples: /, 2, 3, 4, 5, 6 and 7.
Purcell Exercises: 1, 9, 11, 13, 15, 27 and 31.
6 2.2 Definition of Derivative
Differentiation Calculus, 9th Edition, | Examples: 1, 2, 3, 4, 5 and 6.
Purcell Exercises: 1, 3, 5, 7, 11, 13 and 19.
Midterm Exam
23 Rules for Finding Derivatives
Calculus, 9th Edition, | Examples: /, 2, 3, 4, 5 and 6.
) o Purcell Exercises: /, 3, 9, 11, 15, 27, 29, 39 and 43.
7 Differentiation 2.4 Derivative of Trigonometric Functions
Calculus, 9th Edition, | Examples: /, 2, 3, 4, 5, 6, 7 and 8.
Purcell Exercises: 1, 3,5,7,9, 11, 13,15, 17 and 19.
2.5 Chain Rule

Calculus, 9th Edition,
Purcell

Examples: 1, 2, 3,4, 5,6, 7,8, 9and 10.
Exercises: 1, 3,5, 7,9, 11,13, 15,17, 21, 23, 33 and 39.




8 Differentiation

2.6 Higher Order Derivatives
Calculus, 9th Edition, | Examples: /, 2, 3 and 4.
Purcell Exercises: 1, 3,5, 7,9, 11 and 19.
2.7 Implicit Differentiation
Calculus, 9th Edition, | Examples: /, 2, 3 and 4.
Purcell Exercises: 1, 3,5, 7,9, and 11.

These sections must

3.1,3.2,3.3 and 3.5
Calculus, 9th Edition,

Maxima and Minima

Monotonicity

Local Maxima and Minima

be read by students Purcell Concavity and Inflection Points
Extending the Concept of Limits to Infinity
Sketching the Graphs
3.8 Antiderivatives (Indefinite Integrals)
Calculus, 9th Edition, | Examples: /, 2, 3, 4, 5 and 6.
) Purcell Exercises: 2, 5, 9, 11, 15, 25, 29 and 33.
9 Integration 4.4 Definite Integrals and the Second Fundamental Theorem
Calculus, 9th Edition, | Examples: I, 2, 3,4, 5, 7, 8, 9, 10 and 12.
Purcell Exercises: 1, 3,5, 7,9, 11, 14, 17 and 21.

:(References) ) »all

1- Calculus (9th Edition), Dale Varberg, Edwin Purcell and Steven Rigdon, Prentice Hall (2006).

2- Mathematics for preparatory year program (Book1), Oxford University Press (2013).

3- Stewart, James, Lothar Redlin, and Saleem Watson. Precalculus: Mathematics for calculus. Cengage

Learning, 2015.
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1.2 EXPONENTS AND RADICALS

A = . G- FQ—:S Ju= 2
3m=3 31?:2
Hf-sl_:':? “fﬁ:z
"J':H::Z
s 5 5
(ab): a b Jalo-.:.l"&'l_f
kg.’—- =4 x> =[x
b b> y* 19t
LAY
‘”7(o.+lg)z><a"+b?
0
(é'”') = e y—mo¥!
— @)
(a’a xz) -1
12¢4°%
——————
_3 wiJIt u—%)
x = _\ V. _ a
P -5 =
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EXAMPLE 1 | Exponential Notation
@ (3 =(G)E)EE)GE) == (AN =3

2 32

@ =) =8) (=)~ () =41
(¢ -3*=—-(3-3-3-3) = -8l
Q—B)q = (3D (-3)C3 = 3\

q
-3 = —(3x23333) = -3\

EXAMPLE 2 | Zero and Negative Exponents

@ (3)°= , \
| 1 o) =
(b) x_lz—l:ﬁ Lz) - 2
e 2)
1 1 1 - i
—2 -3 — = —_ —— - —.L——— -— _
© (=27 =55~ 5" 3 (-2)t-2)t-» ~8
LIPS WU W
-8 % 8
EXAMPLE 3 | Using Laws of Exponents
(o) ¥ =t l=yg Law 1: a"a" = a™™"
1
(b) )’4}’-7 = }’4-7 = _\’-3 —— Law 1: a"a" = a"™"
y
(‘9 q (If”
(c) T ¢?%=¢* law2: —=d" "
c: a
@) (b*)’ = b*° = p* Law 3: (a™)" = a™ ] o
3
(e) (3.1‘)3 =3t =23 Law 4: (ab)" = a"b" @X) =3 7(’
2Y . . % X TNt ¢ =23
(f) 5 - ? = E Law 5: ( S 5 5



EXAMPLE 5 \ Simplifying Expressions with Negative Exponents

Eliminate negative exponents and simplify each expression.

6st 4 ®) ( y )'3
25~ %42 33

3 6Sst™ _ 38 +t -3S ¢
95 't*

(a)

EXAMPLE 8 | Simplifying Expressions Involving nth Roots
(a) \‘/F‘ = Vxx Factor out the largest cube
= W\% Property 1: Vab = VaVb

3 3 !
= 1\/; Property 4: Va’ = a

(b) m = %WW Property 1: Vabe = VaVbVe
= 3\4/W| _\'l Property 5: Va*= la

= 3.\'2|}'| Property 5: V a* = la|, |x*] = &°
a) 3\IX" = 3J x°x' = "Jx’.{lx
3
- Az 4
3 3 3
= X X = X A =

b)) Yo’y = ¥ar .':/I EER
y

x Yx

S x  J :3sz



EXAMPLE 10 [ Using the Definition of Rational Exponents
(@) 42 = Vi =2
(b) 82/3 = (\7§)2 =S Alternative solution: 8° = V8 = V64 = 4

(¢) 125783 = : = l :l (d) : = 1 = x4
N 125'3 V125 5 \‘/_\_4 B

2) "lv11 = Ju = 2

-Ya . ‘
) \25 — Vs — - 1
SxSXS
! -7
) Ao = — = X




1.2 EXERCISES

15-24 m Evaluate each expression.

®.15. @ -3 = —(3?) = —(3x3)=-9

) -1
@@ = 1x2 = "% - %

2@ Vi o= = 2
J9 3

/2 g
> 4H\-1/2 — GL = 9. = J‘l - =

35-40 ® Simplify each expression.

> 10

= 35. (a) X 8.‘- 2 - X

10 10 -# 3
@ - 37. (a) ) / - ‘j = \y

-
-‘ i
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1.5 EQUATIONS S

Solue Hug [rueav €Yuation —e= =) 5o
/>
3x +1| = £ IOX - 2 = \2 +3X
3x = F-1 — —
== 6 10X-3X = \2x2
Z 3 Ex = 4
x = 2 | 7 *
X = 2

Quad vohiC 8?: uafions

y A
4
x*-3 ~13% [(-2)"= roo
J 1‘=’\s Xx-2 — *\b
N
X =44 X-2 = %10 X=-2=-I10
xX =\2 X =-3
a—XJ"b+bX-\-C=o
a,;_; t?(tid\_f\ rk-.\‘u_,swl

-

Solve Ml Quadrutic €2ceaA 6N

xa.__ X -4 = O



facloci 2akion Mssh D et

x2—6><—-'—1 =0

X-'-?-:o ‘7&.:".1.
[x-l J(x+1 ) =0
e

Complaég He squave 2F I D S0

7} (4

r

X*-4x - F =o

- X 0o as O e
X'-6x 49 = F+9 a8V C Y (D
G,f-)" Gl gens D

\RX——S):_ ::j_Té_ (£ ‘=

x-3 = Y s & Aol @
(——J ~— ‘Sl o P
ez =« A-3=-y
X = 2 Y X = =Yx3
X=17 = =1
Quaclrm:c formunla AWl gl ds (3) D)»

x. = —b* [b%uac
24




2C)
x.—_ '\_'_ijl 361‘28
2
?( - +6 T J §Y = Ki 8
2-f_2 - ¥
X = 6x8 -1 x: £8 = -y
> 2
X=3 X=—I|
— — e ettt P
D sCritiinaun sk QD) S olal) amao
= bz-— YacC _ —
. D=avse =6 D= ad
ol Sl Y QS bas Vo Mo OUS 3P Uslo.0 5K
>0 “treve (S D<o
Twe dosvinck ~vead one rec) ne veak

Solutroy S o\Wh\Ou sloufroN



EXAMPLE 1 | Solving a Linear Equation

Solve the equation 7x — £=3c+8.
~—~

FX =3 = 8+ U4
L‘{(ﬁ, :% =73
s

EXAMPLE 4 | Solving a Quadratic Equation by Factoring ax+bYac —o

Solve the equation x> + 5x = 24.

X*+r 5K _2U=o S P s A S

C ' xS (NLJ’—'

X +8)Y(X-2 )=0o I N—

< = . -3
X+48=0 X-3=o0
X=-93 X=3

EXAMPLE 5 [ Solving Simple Quadratics

Solve each equation.
@ =35 (b) (x —4)* =5

a) JXL:JT;_ X = iJ_S_
b) m_z:‘f;_ x—“\ziJ?




£V OEY el g
EXAMPLE 6 | Solving Quadratic Equations by Completing

the Square
Solve each equation.
(@) x2— 8 +13=0 (b) 3x2—12x+6=0
a) A -BKilb = 13«14 Qg_)z 16
2
2
K -4) =2
2
S -u)" =3 (x-u)=%J3
e —
A-U=ad3 A—n =JT
= E*\I A = 32U
%) 33Xt~ 24 =0 VL L YS LD
?
X -4X ¥2 =0
2
“AN =Y
=)




EXAMPLE 7 | Using the Quadratic Formula el o) fa—

Find all solutions of each equation.

(a) ‘3_\‘: —-S5Sx—1=10 (b) 42+ 12x+9=0 (c) X2+2x+2=0
)
a b P
o) o= 3 b=_S C=-\

K= --Sﬁ-J(-s)z—-&xsx-t) = St J“*‘Z-_

2R S
X = 5% JB-‘I— ! ¢
6
X = S—JJ_Q-
&
= u ]--:\2 C:
b) & 9 Tevo
X= =¥ 12> (uxmrad) = -|zi\-.,ﬁm-\w
P 3
K= =12 = -2
R 2
Q) A=\ b=2 C=2

A= — 2 =*x Jzz-qx\xz = =2% ’u-s
2

20\)

A= —2x J-u - _2x Jul=

2 2
XK= —ZxfJn — 1xJo
7 .
oA’

SAS
yo?



EXAMPLE 8 | Using the Discriminant. 2l ;905\ o5 af S (i

an.b
Use the discriminant to determine how many E_abgmw equ_augn_h&

(@ p>+4x—1=0 (b) 4x2—12x+9=0 (€ ix2=2x+4=0
6 v €

a) D= Y -uac = 6 ~U()(-) = [+U= 20
26>0 S\anp Jie Sle
—Jwo  d.stinck Yok  Solukion
) D= (2" yu(a)= 14u-144 = o

one veol SeWmvo

D D=2 =W =

w X

Y - 1g
A

u‘p

16 = =Y.
3 3

b

DV Lo B
lUD veodl <olbtbA s



1.5 EXERCISES

T15. —Tw =15 — 2w

—Fw -t-ZLJ
“-5wWw = (S W= 15 _
-5
Jis
43-54 m Solve the equation by factoring.
® 3. 2+x-12=0 4. 2+3x—4=0
45. x>’ = Tx+12=0 46. x> +8x+12=0
47. 4x* —4x—15=0 48. 2y* + 7y +3=0
49. 3x* + 5x =2 50. 6.\'(.\' -1)=2] —x
51 22 = 52. 3x2—=27=0
®.853. (Gx+2)2=10 54, (2x— 1) =38
3) xX*+xz-I2<o 5) 2x*=8
= 2

(x xu)lx -2 )=0 ﬁ_‘_:ﬁ_
— NG

Xal=o0 X=-3=co XA = x2

X==-M —)(-_...’3—\
52) ﬁsx.q.'z)?‘ =j|:_ 3x42 = :\:.ﬁJ—

X:iJTC)-?- X= XJlo-2

3 3 >




' 4

g_fg\\&-é\

55-62 m Solve the equation by completing the square.

2+ 2x—-5=0 56. X —4x+2=0
57. Y —6x—11 =0 58. X +3x—1=0
.59. 22+ 8 +1=0 60. 3> —6x—1=0
61. 4° — x =0 62. x?=3x -} >
&)
%5) X?+2x-5 =¢o x¥ii2x¢ 1 = 5S¢l
2 r
Xé-x2xx\ =64 Q(-\-\):'&
X =\ :iﬁ X = xJd€ -1
x = —-J¢ x|
54)  2x%4 x4 \le=o ZXE+4A 2L =o
= = =
&)
e
XEEUK 4y = -1 aY
2
(x+1) = |+ z+2=|F 2[4
/7_ 2 ‘q
>~ +2 = z]q
K= xJ& =2




63-78 m Find all real solutions of the quadratic equation.

63. ¥ —2x—15=0 64. X +5x—6=0
® 65 2 —-Tx+10=0 66. 2+ 30x + 200 =0
67. 2% +x—-3=0 68. 3>+ Ix+4 =0
®.69. 32 +6x—5 = 70. X —6x+1=0
65 ) Xi-F X 4100

(¥ =5 YW -2) =¢
(_J N
XeaeG=eo

KX=2 =g
A=5 A=

6d) 3x'+6x -5 az3 bz=& c=-5

o€ = —.L-'IJ bt-uac

2o
= -6 i‘J36 —(4x 3x-5) = -6‘:}351-66
'S 4
== S-FJ‘!S = =6 E
é 6 &




79-84 m Use the discriminant to determine the number of real so-
lutions of the equation. Do not solve the equation.

79. x>’ =6x+1=0 80. 3x>=6x—9 32k ExX A g
Y D
D= b*uac o YT P
- P29 Y

1) bl uac = (—c)t—@x \%1)

36 -4 = 32

Here ave  T® distinc
real.  solutron

"
N

?) a3 b=-—¢ C
O:= &) (ux3zxa)

Mo resd Solutov



con. 0.2

Inequalities and
Absolute Values

CJuakion ARy | =G X = Y x=2
Inegualities  AX+1<5 (VISP A PL
Inrevod  opre
AX+I1< S
2X < M X<2

2 N2 ("‘/i\tﬁ' PU-TNCN

Lnpevad  Noyorom 1 X:155x 3 #£1x o B
1 1<% <59 = Q (155)
\ S
%.7('. \57(&'53 — 4?5 0, 5]
¢x: \sx<s5% . e [,5)
! S
X <\ —Q (=0 1)
- 0P )
*2° > [5.c0)

5' o



Tl b
9}’“4\.9 J Jt ...’,'.p.}\ 'EO*J-‘\:-P oS P aalS o x
6)L5 61 ALl POl rc w&'_‘;d\:‘

-2x 4+ 2 O -2x =4
—z - =
X & -Y4.s
T —T——————— T S~————__——
s )=
o0 X < 6
-3 £ x < 3 _E ]
= >

. EXAMPLE & Solve the inequality 2x — 7 < 4x — 2 and show the graph of
its solution set.

A~ F L UK-2

aﬂ"’qx <‘2-’l'7~ -.-%==°“’

(-2.5100)
—2X < & L > =2.5

— 2 - 2

B EXAMPLE 2 ) Solve —5 = 2x + 6 < 4

-5 SQ.X*6'< L&.

-S4 2ax < U-¢
-\ < 2% < =2 2 Wl
= = =

~-55S & K < -}

[-55 5 ) _E
=55 -t

</
°T



BEXAMPLES] Solve the quadratic inequality x” = x < 6

Cviw ) Y C-@/"?-g"') JS

@' x:’v x-—‘ %d xz—"x-6-=°

\)5.5“’9 G -3 )= x2 ) =6

’ 2 & x-_z
’fs‘ R=3
5 s Ce—3>lx+2) <o

U -

u:?é‘.'\”." I R P o
',.I"L\ é,.) . xX=3=
7 \/'.)’ e x=3
WP

")',’I}\\ .”;&57 - == + = x 4’# * «~x 2x4+2=0

ST K F=-2

PR Y e

’ucfes“ Q

‘ .
- (‘{f
% 3
-2,3) ed el S Lt
B EXAMPLE 4} Solve 3x> — x — 2 > 0.
(3 +2 X <1 ) >0 wrdo 2V
UleS. et
O PS 9
3X$2 =0
3X=_2 aitertudl e s S b SR P 7 WP
-\ (-
7(-:-_2_-_
3
— = —= 1 s = *Y x.\ze
- ¢ X=
e i 2 o P T
-, -4 -& w
31 [



B EXAMPLE 5| Solve

x—1
r <

= ().

rJ

X

082 J\yo NN eE G ai

e 2

x—l-o ~1 - ——-—-—-—{x %X XX <X
x =z (

Xx 2 =6 ol e X+ o+ a4
y ) -1* '

V}\’} XA - e == - = T - = - 4

(-o22) U E‘/Oo)

0 ALt 2~ Y A s oy

3 e =

s

X2 =6

XK= =2

RS



[ Plosolute  Value | sy ecatt |

\5\:5 ,-S):.S
S\ o2 s>

v lab) = Val\b] 5  \ax] = ‘31 \xl= 3l

— E "‘i\— =74 =4 | = \-ul _
® lb‘ Vol \b\ !\_b\— %'Zl
*  larbl < lal4 () |-3+5] 7 131 ksl

2 < 3 xS

% | &- b ;(\q\_lbll |s-3) 2 5-3




iEXAMPLEB. Solve the inequality |x — 4| < 2 and show the solution set on
the real line. Interpret the absolute value as a distance.

[A—U1 <2 a—p =2 < XK=u< 2

244y < XK < 2x\Yy

2 <Xx<¢ (2, ¢)
—
Z €

B EXAMPILE 9] Solve the inequality |3x — 5| = 1 and show its solution set on
the real line.

|3x—5) = |

3%-5 =1 ox 3x-5 >

3X S=\aS 3X2é
3X S Yy xa%
XS% Y'a X > 2
'y
-° < . qi ( : 500
o \ E 3



B EXAMPLE 13 | Solve °

- 2x — 4 =< ().

O LL‘«:L'/ N 239 il fI1

x4 2 «U =0 a= | b -2

§g =* >
= 2 i.l 20 _ 2 = Juxs
2 - = z
\-\-J?g\v, 3.1
\-Js w -1
ryY¥+| - o | ¥ XXX
1~V 6 ads

D"EJ 1+ J5 §

P"J|M..._>~'



Problem Set 0.2

1. Show each of the following intervals on the real line.

(¢) (—-4,1) . > (d) [1,4] =g
(e) [~1,0) (f) (—00,0] .

e{ =2 _""_:‘l——

In each of Problems 3-26, express the solution set of the given
inequality in interval notation and sketch its graph.

3. x-7<2x-5 4. 3x —-5<4x -6

_':]._I.S' < 2)(—-7(

—2 < x
X >—=2 ( > o
-2
L-2,00)
1L X2 +2x-12<0 12. x> -5x—-6>0

e —bx Jpiuac = -2 TJu_uax = —23/52
2a 2

2
- "iJ__".;:_; = =l= JIBZ = —\* Nz
3




('-)-JTP 2 ‘)_"JI_? )

13. 2x* 4+ 5x—-3>0 14. 4x* - 5x-6<0
x+4 3x -2

15. = () 16. =0
x—3 x—1
2 7
X 4x

3) 2xtxSx-3>0

(22 =1 ) (X+3 ) >0

2A -1 Xx+3=0 -3
22X = |\ X==3
X:—‘Il- (-sopl "3) L/ (_ZL
\?) 2 <5 X =<zl
A
2<45X SX> 2 > F
Xae2>So g ot
= >



21.
22,
23.

y N

21)

(-2,!)()(3,00) -t - - - - F++
3

(2p— A} a1 {x—3] =0
2x = 3)(x—-1)*(x-3)>0
x’ —-5x2—-6x<0 26. x’— x*—x+1>0
(.74—\-2)(7(-\:3 (% -3) >0
x-\-l(:o r~lzo \”‘-3:°
r=—1 K= A= 3
"-i'\‘ - 3 - ‘-" -

F__-?-—‘j;-\_*':'-" _\..

- ¥y 4+~ | —--—

25) ] Sx_sx <o ’
BN R I
x (X*-54k -6 )<o &
—= = =Nt T A+
xX (x¥V)(x-¢)<Lo ‘f(
o o v R [ K
Xze A= =1 X=6 -\ )
. _,___,{1

(—00,-|)U (o »6)J - b J




In Problems 35-44, find the solution sets of the given inequalities.

35. [x—-2| =5 36 |x+2| <1
37. l[4x + 5| = 10 38. 2x—-1|>2
2Xx 2
s |—— 5| = . |— <
39 - =7 40 4+l l
24 .5 < -F 2x 5= F
=1 #
22X < =2 2X = 12
E,_— 3
XS =2xF R = y2
T2
AL - _
uz
<
=1

C"‘°°/ ——?J U El'z/ oo)



Y

0.3 ¢
The Rectangular ~ | 7771 "
Coordinate System L

( Distance ) s Crs arinch
Lxhﬂz)

/\Q d(f’. @J:J(X,-xaz-r (.'Jz.-g.)"

33‘9|

(xnﬂl)
iz-(\

CT. ,, Q.?'.\.bl

o.o\._.Sl.a-D‘

8 EXAMPLE 1) Find the distance between

(a) P(-2.3)and Q(4, —1) (b) P(V2,V3)and Q(, #)
Xy 9, X2 92 X Y Xz Y2

o d=fg - (13) = [36+1s =52
b) e’—:.@r—.ﬁ)la-(rr_fi)" = 2.23

719 e‘[a.wh'm« c:& c;rde, RIAPAI GNPy S

(X=W2+ (Y-K) - >

\§ dCw
e

(x=-2)"« k&a--z)
h:: l ﬁ:=-2

|\|



. Y=5
@ EXAMPLE 2} Find the standard equation of a circle of radius 5 and cen-

ter :l —3). Also find the y-coordinates of the two points on this circle with

x-cobrdihate 2.
b K O PP o S
QY =5) Y=5

(%-n)" + (9-¥) = (2

(£-\)% (9 + §) = 25

Y 52 K22 orr 02ss

(2-1)"+ (e )"=2s

V +(9+85) %2 25

ﬂ3+ s)/z_,.( 2y




. EXAMPLE 3| Show that the equation

z 3
x> =2x+ v +6y=-6 K)o (9-L) =¥

represents a circle, and find its center and radius.
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B EXAMPLES Find an equation of the line through (—4,2) and (6.=1).
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e EXAMPLE 6/ Find the equation of the line through ((w 8) that 1s Ell’lll(. Lo
the line with equation 3x — Sy = 11. *9 AT
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- EXAMPLE 7" Find the equation of the line through the point of intersection
of the lines with equations 3x + 4y = 8and 6x — 10y = 7 that lslpcrpcnalcul trltu
the first of these two lines (Figure 16).
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Problem Set 0.3 N
(KXW + (9ac) =17

In Problems 11-16, find the equation of the circle satisfying the
given ('nmliliun.\‘h
, < g X 2 2
11. Center (1, 1), radius 1 (% =) (y-)°=

12. Center (-2, 3), radius 4
W |
13. Center (2, - T). goes through (5, 3)

G, 2) — 2
d= J (%2-x) v+ (92-9))

o - J-[S-Z)z-a- (3-—13-2

X =ol—_-J°l+l¢5' :-fz—s_-.- 5

(X-—Z)L-\- <9+|)z= 25

In Problems 17-22, find the center and radius of the circle with the
given equation.

17. x> +2x + 10+ y>* -6y — 10 =0

B\
kv) :\ ,
_X¥2xe) + yREeq = l0-l0+(49
~ - \_N\j

e +1) 4+ (y-2) =10
Centre (=1,3) v=Jw



In Problems 23-28, find the slope of the line containing the given
two points.

23. (1,1)and (2,2 24. (3,5)and (4,7)
25. (2,3)and (-5, —6) 26. (2, —4) and (0, —6)
27. (3.0) and (0.5) 28. (—6,0) and (0,6)

3)' ) ol = 3?- "'y/ = 2 =

7(2—)(\ z'_.‘
25) m= —€&€-3 =9
-5 =2 +

In Problems 29-34, find an equation for each line. Then write your
answer in the form Ax + By + C = ().

29. Through (2.2) with slope —1

B"‘ﬂ\z MC}Q—)‘\)
\d_?—: -\( XK =-2)

=L = =XKx2 -
e

J = —xXx YU o JrX-—\UA=-o

33. Through (2.3) and (4. 8)
34. Through (4,1) and (8,2)

In Problems 35-38, find the slope and y-intercept of each line.
3§5. 3y=-2x + 1 36. 4y =5x—-6

33) ez -9y - 8-3 _35
ir 3



2Y -6 =6XK ~1\0

23.—-6)( +U =0
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; 2 ¥ ot - J:)
In Problems 35-38, find the slope and y-intércept of each line. Y=mx -
c y oo
35. 3y=-2x+ 1 36. -4y =5x -6 Y

35) 39 = = 2% x|
) = "'—’;-x —\-@ Y inrevcel= }i

f K=t Qg |5) ol ~P o
; s _ Xy Dy
39. Write an equation for the line through (3, —3) that is
(a) m the line y = 2x + §;

(b) perpendicular to the line y @ + 3
(¢) parallel to the line 2x + 3y = 6:

(d) perpendicular to the line 2x + 3y = 6:
J-Y) = m (x-x)

Y+3 = M x -3)

—T—— ~— T —— T

b) m’=_:-ril"_'\"z: ";‘_‘

J+32 = —,—‘;:-.Cﬁ -3






